+ CENTER PINS (H/03Ei) p.157-P.158

SPECIAL PURPOSE VEHICLE

TOYOTA

CENTER PINS
(LB )

TCM

34B-24-11321

24454-32161

43631-13600-71
TOYOTA 5/6FD15 = TCM FD25 Z-2/7-5
t)7#4m/m 32*195m/m PI-105
28*185m/m PI-101-1
14300-00680

e e Tov D
TOYOTA 5/6FD25 FD25 Eg% ]F:ggg Z-3
YANG 2.5T
28#195m/m PI-103 32*210m/m PI-106
TOYOTA 5FD40 TCM FD40 Z-6/7-7/Z-8
28*%208m/m PI-104 32*230m/m PI-108
24234-32131 TCM FD40
TOYOTA/NYK/TCM PI-108-1
FD15 #EHH
25%175m/ PI-119

mm 25784-32171

45*248m/m PI-112

TCM FD100/130
50*350m/m
PI-114

TCM FD20 5%

PI-124
I TCM FD135
2 = 40*200m/m
PI-129
MITSUBISHI .
= MITSUBISHI FD25 (S4S) %{fggg/gms PL.130
28*155m/m PI-107
91843-05300
A M ITSUBISHI FD50
Y 40*217.5m/m SHINKO FDI5
ZEFL.8m/m PI-121 30*196m/m PI-130-1
I MITSUBISHI FD30 (S4S)
28%162m/m

PI-123

157

AR A - #ZIe e % - ABR



+ CENTER PINS (H/03Ei) p.157-P.158

SPECIAL PURPOSE VEHICLE

CENTER PINS
(LB )

KOMATSU NISSAN

34B-24-11321 48598-14H00
KOMATSU 8S/11S/12S/14S | 48598-FF000

FD25 V]/%5m/m - NISSAN FD25 J02 (Y] ;#4mm)
28*185m/m PI-101 25%205m/m PI-113

34C-24-11190 NISSAN
KOMATSU FD70 35*240m/m = 30*193m/m

SHOVE LLER PI-102 PI-120

KOMATSU FD70 NIESAN FD40

|1

PI-127
3EC-24-11340
C——  KOMATSU FD35/40 4558
TAILIFT FD25/30
30*%196m/m PI-110
3EC-24-31680
KOMATSU FD40 75
o 22*%209m/m PI-111
3EB-24-32350
KOMATSU 148/15S
FD20 22*188.5m/m
PI-115
e KOMATSU D014 | YALE
— 22*%210m/m PI-118
YALE FD25/30
3EA-24-11920 s . 25*%180m/m
22*%115m/m PI-125
YALE FD15
e e 25*165m/m
_— . 22*%180m/m PI-126

NYK (NICHIYU)
14300-59930
S ————— NYK FDI5 70-75%

25*%195m/m PI-122

TAILIFT

- S== TAILIFT
— BEEEGIEI =R
40*218m/m PI-128

158 WAk PR A - AZ e % - ABR



- CENTER PINKITS (0 4 EHAL) p 5o

ABR

SPECIAL PURPOSE VEHICLE

CENTER

PIN KITS
(FLHEHEE)

288

04436-10010-71
KOMATSU FD25

8S/118/128 PI-101K

Q
o‘%

TOYOTA 6FDI15
PI-101-1K

oo
O 00

KOMATSU FD70

SHOVELLER PI-102K

Jeses

04436-20010-71
TOYOTA 5/6FD25
PI-103K

see

TOYOTA 5/6FD40
PI-104K

ASL®)

(9 1)

TCM FD25 Z-2/Z-5
PI-105K

+ QO

i )]

TCM FD25 Z-3
NYK FD25
PI-106K

39
O09o

91243-05400
MITSUBISHI FD25 (S4S)
PI-107K

TCM FD40 Z-6/Z-7/Z-8
PI-108K

en.
a®

3EC-24-05050
KOMATSU FD40

2 oo

25784-39811
TCM FD50~FD&0
PI-112K

e o

QOO

ole

NISSAN FD25 J02
PI-113K

gOO

00

TCM/NYK FDI15
PI-119K

MITSUBISHI FD50
PI-121K

159

AR A - #ZIe e % - ABR



M

SPECIAL PURPOSE VEHICLE

43415-30080-71 “
BN-001B 90179-16003-71

90114-14010-71 A8 Al 34B-24-11221
90942-01004/02003 300-22-31241
BOLTS,NUTS TOYOTA 5FBD25 ] é KOMATSU 8S/11S/12S
FOR HUB > N-00 0 BN-004
o B i =
<< $FFFJ HD @/‘i’r‘ Z/% >> 90179-14001-71 A9 A4

W QN —

42483-13B10-71 : 55m/mI
40224-0T005 42482-23420-71 40222-14H00
TOYOTA 7FD25 42481-33240-71
M14*1.5m/m o T i TOYOTA 7/8D30 26118-4201P
BN-001-A BN-002 BN-003 NISSAN BN-005
=2 G T2
55m/m _ m/m
23654-39821 S0m/m YALE FD25 50m/
TCM FD25 Z-3/Z-5 YANG FD20 SHINKO FD25 7-8 mm
BN-006 BN-008 - NYK FD25 555/65S
BN-010 BN-012

91443-03300

m/m m/m
54m/m l—>l
48.5m/m

52m/m

N 179-12004-71/%% 18

91243-10800 SHINKO 6FBAA 23654-32041/32051 gglzz_lzg?z_gljézz

MITSUBISHI FD25 TAILIFT/YANG FD30 TCM FD25 T-3 TOYOTA 5F/6FDI15
15*48m/m BN-007 FRONT HUB BN-009 BN-011 TCM/NYK FD15 ##Hj# BN-013

80942-76003-71 ‘ =)
61m/m

TOYOTA 7/8FD25

80942-76004-71 23813-00081-3% .
rE 7FB20(64L)

M12%1.5m/m TOYOTA 7FD25 23813-00071-4% %
_013- 32m/m  (EEdEmFTU\ R ERER) R TAILIFT FD30
BN-013-A D ol TCM 41m/m BN-017 BN.019
e = -] 80942-76001-71-42 5 — @ ”
34B-27-11350-42 & ¢ Ll I m/m
42484-23130-71 42636-76003-71 -7 44 42m/m 43812-23320-71
TOYOTA 7FB25 34B-27-11340-%4 rg, 20153-70042 TOYOTA 7/8FD25
M16*150m/m BN-016-1 TOYOTA 38m/m TCM/TOYOTA/YANG FDI15 7FB25(8}L)
BN-014 BN-016 BN-018 BN-019-1
A " -
i i o=
47m/m 48m/m
40222-A0800 HYSTER FD15 TOYOTA 5/6F FD30 SHINKO FB25
NISSAN FDI15 Jo1 BN-022 MI12%68m/m MI12*46m/m
BN-020 L BETH IR R EH) BN-026
‘ - BN-024
1= &N g
BN-021-2 . BN-021-1
¢ e 90116-10101-71 b
46m/m 80116-76107-71 90109-14002-71 =
70000-33810 TOYOTA FD25 TOYOTA 7FB25 Slm/m
NYK FD15 L EETHIR AR M14*50m/m YALE FD15
BN-021 M10*1.25m/m BN-023 ) BN-025 BN-027

o]
= O

TCM FD40 358-27-11230 -2 1) TOYOTA 7FB30 TOYOTA 8FD30
* 34A-24-11220-124%% FRONT HUB
25*%65m/m « % M12*%62%1.25m/m
BN.028 KOMATSU FD15 M16%16.5%163m/m . BN-034
M12*1.5%22m/m i S 2 4% BN-032 e

BN-030 =
* L]

T

42483-13130-71 42481-30510-71
TOYOTA 5/6/7FD15~25 90101-10066-K TOYOTA 7FB15 TOYOTA 5/7FD50
72 R R 4R MITSUBISHI (H(3 82 4%) M14*14.5*¥146m/m M20*157m/m
BN-029 M10*1.25m/m BN-031 BN-033 HITA e i24% BN-035

160 W HE P A - 42Ae s % - ABR



+ BOLTS,NUTS FOR HUB

(EmRGIZER ) p160~P.161

SPECIAL PURPOSE VEHICLE

BOLTS,NUTS

BN-036-1

14300-12560

NYK FDI5 {&U5R 5%k
M12#1.5%*23*H16m/m BN-036

TCM FD25 Z-1
MI11*60m/m B, BETE IR 4%
MI11*1.5 / M11*¥1.25 m/m

40222-FJ100
NISSAN FD40
M14*14.5%50.5m/m

FOR HUB
A H /s e
(aIZE ) el (s
24453-02061
TCM FD20~30 Z-5 4310-28340 NISSAN FD40
=0, BETE 4% M 1258 m/m M12%23*22m/m M18*1.5%66m/m
C3/C6/C7 BN-037 BN-039 ([E]5H25m/m) BN-041
42484-23320-71 B
TOYOTA 7/8FDK20/25 H
AT iR4%145m/m GEHL 4640 5 1 #(E ()
BN-042 M16*1.5%65m/m BN-046
| T
Hmﬂ A12825HCK) RH
A1282 (/) LH
3EB-21-25180 SN
KOMATSU 128/14S SHINKO 6FB25 YALE FD25 TCM FD80/100/150
OB 4%43m/m Bt iE4% M18%205m/m FIEELIH4% M20*1,5%66m/m Tl B 6] T AR
BN-043 BN-044 BN-045 | MI10*35m/m BN-047

=€

DAEWOO FD25
Rilmns R IR

M12.5*%54m/m BN-049

161

W HE P A - 42Ae s % - ABR



+ NUT (#2£E) piso

SPECIAL PURPOSE VEHICLE

NUT
(IREE)

22
m/m| ° A

34B-21-14151
310-30-26310
KOMATSU M20*36*H22m

OAI

90179-20001-71
TOYOTA M20*38m/m

/m

o -
"

23913-02041
TCM FD30 M20*41m/m

A3

01400-10020
TCM FD30 M20*30m/m

M18*26m/m

o .

24354-32311
TCM FD35/38/40/45 Z-7

M20*32*H22m/m
A7-1 Y AN
O O \

MITSUBISHI (S4E)
M19*26m/m

(@

MT-420342
MITSUBISHI (S4E)
M19*38m/m

A7

NISSAN FD25
MITSUBISHI (S4S)
M18*38*H25m/m

o -
R

90942-01012
90179-16003-71
80942-76003-71
TOYOTA M16*32m/m

M16*24m/m

O

90179-14002-71
TOYOTA 7FD25

KOMATSU FD50
M22*38m/m

o -

NISSAN MI18*32m/m
H26.5m/m

(ol

304-41-36740
KOMATSU FD25 118

Al4

©

TIE ROD BOLT
M20*1.5%13m/m RH

Al4-1

©

TIE ROD BOLT
M20*1.5¥13m/m LH

AlS

@

3EB-24-21290
TIE ROD BOLT
M22*1.5%30%13m/m RH

O- A15-1

3EB-24-21280
TIEROD BOLT
M22#%1.5%¥30*13m/m LH

o A16

TIE ROD BOLT
M22*1.5*%32*18m/m RH

'g’ Al17

TIE ROD BOLT
M26*38*15m/m RH

'9! Al17-1

TIE ROD BOLT
M26*38*15m/m LH

A18

©

308-22-23335
M22*36m/m LH

A20

BOLT M18*27*15m/m

o A21-1

MITSUBISHI (S4S)
M27%2.0%36*18m/m

. A23

3ED-33-41181
KOMATSU 8*21.5m/m

a AL9 :' ;ﬁ A21 o A22 A24
MITSUBISHI (S4S) KOMATSU FD50
BOLT M16*24*13m/m M27*2.0*38*18m/m M22#*32*%26.5m/m M24*1.5%19m/m &5
i@ A25 A29
A26
M30*2.0%46*24m/m A28 9001263-67
M24%2.0*%19m/ N <7
m/m £ F S 7 2 O 5 1 92 B
M20*32*H25m/m
A25-1 o A27 41121-10340-71
TOYOTA 7FD40
TCM FD40 i # Ik £2 18 £F MR RE

M24%2.0%19m/m /£ 5F

M20*1.5%13m/m

M38.6*46*18m/m

162

AR A - #ZIe e % - ABR



*+ BOLTS,NUTS FOR HUB

{ Al i 247 )

P.163~P.164

ABR

SPECIAL PURPOSE VEHICLE

BOLTS,NUTS

FOR HUB
CHTEmiRER )

106m/m

3EB-21-16140
KOMATSU FD20~FD30 8S

==

71m/m

3EC-21-16140
KOMATSU FD35/40

efme

85m/m

24353-72001
TCM FD25 Z-5

==

107m/m

91433-10701
MITSUBISHI FD20/25
()

D

=g

78m/m

91833-07100
MITSUBISHI FD35/40 (S4E)

m G
53m/m

BOLT R.WHEEL

64343-71101
MITSUBISHI FD35/40

H\I
58m/m A8

43471-31960-71
TOYOTA 3/5/6/7FD35/40

==k

74m/m

90101-18377-71
TOYOTA 3/5FD30

106m/m

3EB-21-25170
KOMATSU FD20/30 11S/158

K

e
165m/m

42419-30510-71
TOYOTA 7FD40
M20x1.5x145mm

[ — |

75m/m
48513-51K01
NISSAN FD25
M14*1.5%17*75m/m

L

M

L= > i
—

-aMZ

48513-51K00
NISSAN FD25
M10*1.5*%17*75m/m

= \s

NISSAN (K25)
M14*1.5%16*76.5m/m

—_— M4

48513-00HO01
NISSAN (K25)

L —— JBVE

NISSAN FD15
M14*1.5%67.4m/m

= \

95m/m

228A3-02031

===

83m/m

25303-02102B
TCM FD20/30 Z-5

(0]

16.4m/m
— P
92m/m AS+A9IER}
42431-23000-71

== g

85m/m

42423-32880-71
TOYOTA 5/6/7FD40

==

75m/m
24354-42301

TCM FD40~FD60 Z-7
FD60~FD100 Z-8

42483-23420-71

3EC-24-11320
KOMATSU FD40

M14*1.5%16%60.3m/m TCM FD35/40/45 TOYOTA 5FD25 16.4%93m/m
16.5m/m ﬂ e ——) g
(ﬂ@ 90m/m 104m/m A
86 > 42483-33660-71 42484-13310-71 82m/m
m/m i i TOYOTA7/SFD15 43225-14H00
42481-32060-71
42481-23600-71 / NISSAN FD25 102
TOYOTA 5/6FD25 TOYOTAS/6/7TFD30 82m/m
— 58m/m Al 93m/m A4 —
90m/m 83m/m

42424-31960-71
TOYOTA 7FD40/50

43225-00H00

TOYOTA 7FD25 30*M22*58 93m/m (% ) NISSAN FDI15 P01
ﬂ 1A - 3A 5A B1-1
97m/m 105m/m 95m/m .
22433-72101 3EA-21-14121 86m/m
43225-04H00 TCM FD30 Z-5 KOMATSU FG15~FG25 KOMATSU FD40~FD50
NISSAN JO1 M14*1.5m/m M20%22%105m/m M14*95m/m M22*86m/m
ant=—r—y =
S —] 4A M - B1-2
2A 110m/m B1 36.1m/
76m/m 42483-13310-71 89m/m S
216G3-02061 42481-13601-71 308-22-23325 KOMATSU FD40/45
TCM FD15 C19/T19 TAILIFT/YANG/TOYOTA KOMATSU FD50~FD80 86.1*1.5%
M14*76m/m 5/6FD15 M14.5%110m/m M22#89m/m M20%M22%86m/m

163

WA A - e % - ABR



- BOLTS.NUTS FOR HUB (Hi#i#%%)  p163-P.i64

SPECIAL PURPOSE VEHICLE

90m/m
33555-23420-71 TCM FDA40 7.2 M24%92m/m
TOYOTA 7FD25
BOLTS’NUTS 9 12 4 1Y M22*¥90m/m B5-1 (BOLT) 4
OR M2 M0 b T
(RIRES) | b
92m/m
98m/m +Al TCM FD150~FD240
3EB-21-52380 Z-4/7-5 3 8598 4 M24#35.5m/m
KOMATSU FD25 16S M24*92m/m (K4 #2 &) B5-2 (NUT)# &
1.55
100m/m 81m/m 85m/m
24813-00061 MITSUBISHI GRENDIA TCM FD150~FD240 (old) TCM FD250 Z-3 .
TCM FD50 BS-3& iy | FD2s M19*20m/m M24*8 I m/m(fff #21]) 34" F10m/m  (FEH]TF)

NUT OD26m/m

=B7 *B9

g 100m/m
B5-4

43222-FK001/FK310 90m/m
150m/m NISSAN FD25 L02 KOMATSU FD50 7S TCM FD60~FD100
M20*1.5m/m M18*20m/m M20*M20*1.5m/m Al SR SR (RIR A 1)
B13
Bl1.3 | e B12-1 - e

B11-1 TCM FD60~FD100

TCM FD60~FD100 i EE B 58 4 TOYOTA 8FD10N~J35N NYK FD25 658
B FE BT RIS (PI LEVER) iU %2 2
' 2%  B13-1
109m/m B12

67893-26600-71
B11-2 TOYOTA 8FD10N~J35N

M10*13m/m HEFE[E E E =
M16%101m/miZF} (— LEVER) BE - B13-2
YALE FD25
M20*100m/m Jij ¥ 5 12 4%
e B15-2
B15

KOMATSU FD150
AT 15 7 9

164 MR Ak PR A - AZ s % - ABR



+« PLUG (BOLT),BOTTOM OF LUBRICATION OIL CASE

CHERRRE R ES 184%)

P.165

SPECIAL PURPOSE VEHICLE

PLUG (BOLT)
BOTTOM OF
LUBRICATION

OIL CASE

CHEEEL )
(ki)

g PD-01
TCM C240 (41Z2)
KOMATSU 118
M22*1.5m/m

Py

KOMATSU 10S
M20*1.5m/m

PD-02

Ty o
15m/m

KOMATSU 12S/14S/16S
M16*1.5m/m

%I 12m/m  pp-03-1

KOMATSU 12S/14S/16S
M16*1.5m/m

PD-03-2

KOMATSU 12S/14S/16S
M16*1.5m/m (f[15% 8%)

o} 32m/m—oia PD-04

80341-76001-71
TOYOTA FD25 1Z/2Z/13Z
M25*%1.5m/m (6F4)

©35mim—d —o» PD-05
w

90341-25003-71
TOYOTA 1Z/2Z/13Z
M25*1.5m/m (6F9)

i' PD-06

33135-20540-71
TOYOTA 7FB25
MI18*1.5m/m

90341-20003-71
TOYOTA 7FD25
ARG M20*1.5m/m

OIL
COOLER

COVER
(HH<aE)

TCM FD40 6BB1/6BD1
0C-01

165

WA A - e % - ABR



* BOLT STOPPERS ( KFEI1FE) piss

ABR

SPECIAL PURPOSE VEHICLE

BOLT

=

43112-35010/76001-71
90251-10001-71

75m/m
—»i
= me

20314-30161
TCM FD25/40

38m/m

—»i
g 2 12m/m

64343-18801
MITSUBISHI (S4S) FD25

TOYOTA 5FD25 M16*95m/m P-203 (§):2455) P-205
STOPPERS | mi25%68mm  p-201
300-27-11221
43232-23600-71 KOMATSU 11S/12S/14S 40023-48200
90109-10016-71 FD25~FD80 NISSAN FD25/40
TOYOTA 6FD25 P-202 TAILIFT FD25 P-204 (% 7%)34m/m P-206
- - —= =il
20114-30081
NISSAN FD25 43227-20420-71 3EB-35-11130 ALIUIMENG FD25/30
(U)7%)30m/m  P-206-1 ?81;4051%131:])40 KOMATSU 8S/11S #Ef&EPIN PINS FOR KNUCKLE
M12*70m/m P-208 M15*52m/m P-210 M12*42m/m P-212
B - Sa— —
90109-10015-71
43227-23420-71 215E4-32341 43112-76002-71
TOYOTA 7FD25 TCM FD25 T3 TOYOTA FD50 TCM FD200~FD250
TOYOTA 7FD40  P-207 M16*87m/m P-209 M16*80m/m P-211 M30*195m/m P-213
YANG FD40 (CF B )
M12.65*72m/m P-214
166 RHEFFA - R % - ABR



- SCREW ADJUSTINGS (HIHEFIELEEY p 147

ABR

SPECIAL PURPOSE VEHICLE

SCREW

ADJUSTINGS

(Rl R =R )

h SA-01

91846-01400
MITSUBISHI FD25 (S4S)
TAILIFT FD25
28.3%6*107m/m RH

h SA-02

91846-01300
MITSUBISHI FD25 (S4S)
TAILIFT FD25
28.3*6*107m/m  LH

T s

47450-23600-71
TOYOTA 5/6FD25
28.3*6.3*88m/m RH

47460-23600-71
TOYOTA 5/6FD25
28.3*%6.3*88m/m LH

=hmm=m  SA-05
23653-72041
229F3-79831
TCM FD25
28.3*6*90m/m RH
T SA-06

23653-72031
229F3-79821

TCM FD25
28.3*6*90m/m LH

=

TCM FD40
28.3*8.3*97m/m RH

SA-05-1

SA-06-1

e~ —

TCM FD40
28.3*8.3*97m/m LH

=

34B-30-14140
KOMATSU FD25 118
38*%6*104.5m/m RH

34B-30-14240
KOMATSU FD25 118
38*%6*104.5m/m LH

3EC-30-11230
KOMATSU FD40

TOYOTA 5FD30
28.3*%6.3*108m/m RH

am—

3EC-30-11150
KOMATSU FD40
TOYOTA 5FD30
28.3*%6.3*108m/m LH

SA-09

SA-10

SA-11

TCM FD15
28.3*5*88m/m RH

Eofe=== sin

TCM FD15
28.3*5*88m/m LH

— — BT

47450-11630-71
TOYOTA 7/8FD15
28.3*%6.3*89.5m/m RH

2

47460-11630-71
TOYOTA 7/8FD15
28.3*%6.3*89.5m/m _LH

SA-14

SEi—.  SA-15
11242-23300

TCM Té6
28.3*8.5%*106m/m RH

p—

11242-13300
TCM Té6
28.3*8.5*106m/m  LH

SA-16

h SA-17

YANG FD25
33*7*102m/m RH

a SA-18

YANG FD25
33*7*102m/m LH

:-* SA-21

3EB-30-51450
KOMATSU FD30 16S
MITSUBISHI FD30
33*7*106m/m RH

TR SA-22

3EB-30-51430
KOMATSU FD30 16S
MITSUBISHI FD30
33*7*106m/m LH

Tl SA-19

TCM FD50 (/\i)
28.3*8.3*122.4m/m RH

TS SA-19-1

TCM FD50~FD70 (i)
33*8.3*122.4m/m RH

SSEEESL  SA-20

TCM FD50 (/)
28.3*8.3*122.4m/m LH

SRS sA-20-1

TCM FD50~FD70 (A T)
33#8.3*122.4m/m LH

3RA-31-13860
KOMATSU
i X 2 R

* SA-24

28.3*5.5*%88m/m RH

== ..

28.3*5.5%88m/m LH

WSS a2

TOYOTA 7FD25
28.3*%6.6*89m/m LH

WS sa27

TOYOTA 7FD25
28.3*%6.6*89m/m RH

167

WA A - e % - ABR




« TIE ROD LINKS (ZH%528) p.168~P.170

SPECIAL PURPOSE VEHICLE

TIE ROD

LINKS
(548 )

@zmmﬂ TR-01-1
®l7m/m—aTR-01-2

TR-01-3

43751-33240-71
TOYOTA 7FD/FB25
TR-01

o=

43751-13311-71
TOYOTA 7FD/FBI15
TR-01-1

o0

43752-13310-71
TOYOTA 7FD/FB15
TR-01-2

=D

43751-30511-71
TOYOTA 7FD40/45
RH TR-02

o=

43752-30511-71
TOYOTA 7FD40/45
LH TR-03

cmen

43751-23440-71
TOYOTA 7/8FD25/30

TR-04-1

43752-23442-71
TOYOTA 7/8FD25/30

®22m/m

O20m/m

®25m/m ®20m/m

22N54-32351/32941
TCM FD30 C3

RH TR-05

22N54-32361/32971

oW

43751-23320-71

TOYOTA 7FD25
TOYOTA 7FD30
RH TR-07

43752-23320-71
43752-33240-71
TOYOTA 7FD25

®20m/m ®27m/m

3EC-24-15240SA

TCM FD30 C3 TOYOTA 7FD30| KOMATSU FD357S
TR-04-2 LH TR-06 LH TR-08| RH TR-09
O20m/m
®25m/m O20m/m ﬁ
P-342 P-341
3EC-24-31630SA 3ED-24-41160 3ED-24-41150
KOMATSU FD35 7S KOMATSU ED50/60 KOMATSU FD50 KOMATSU FD50
LH TR-10 RH TR-11 LH TR-12 TR-30
@ 17m/m ®d17m/m ®17m/m @ 17m/m
19
Im/m
TAILIFT FD25 TAILIFT FD25
MR 45 28 FD25 Hedn 45 28 FD25/30 48512-51K00 48512-51K01
fL18m/m RH/LH FL20m/m RH/LH NISSAN TD27 1994/2Fi NISSAN TD27 1994/21%
TR-13 TR-13-1 TR-14 TR-15
O10m/m
®19.1m/m

43732-23420-71
TOYOTA 7FD25/40

43752-33260-71
TOYOTA 7FD40

TR-16

TR-17

43753-33240-71
TOYOTA 7FD40

TR-18

YANG FD25
TR-19

168

W HE P A - 42Ae s % - ABR



« TIE ROD LINKS (ZH%528) p.168~P.170

ABR

SPECIAL PURPOSE VEHICLE

TIE ROD
LINKS

®15m/m

&

O25m/m

S

o

22B54-32951
TCM FD25 C3/T3
TR-31

o=

22B54-32961
TCM FD25 C3/T3
TR-32

N
(ZE4EEE )
3EB-25-35110 3EB-25-35120 20A74-32551
KOMATSU 12/14S KOMATSU 128/14S TCM FDI15 T3
RH TR-20 |LH TR-21 RH TR-22
d25m/
m/m (Df/m ®17m/m ®20m/m ®17m/m O20m/m
48511-FK001
91E43-10600 91E43-10500
20A74-32561 NISSAN FD25L02 RH MITSUBISHI GRENDIA 9151364-00
TCM FD15T3 MITSUBISHI GRENDIA NISSAN FD25 L02 LH YALE FD25
(LH) TR-23 TR-24 TR-25 RH/LH TR-26
O24m/m ®18m/m
m TRZT-3 | SF 1612
TR-27 91B43-10500
3EB-25-42360 48511-FJ101
TOYOTA 7FD30 KOMATSU 158 KOMATSU FD25 14S NISSAN FDI15 LO01
TR-27 TR-28 TR-28-1 RH/LH TR-29
®20m/m ©20m/m | 2 200/m ®20m/m ®15m/m ®15m/m

3EB-24-32321
3EB-24-32340
(3EB-24-32321 SQ)
KOMATSU FD25 14S
RH/LH TR-33

48512-44K00
NISSAN FD15 LO1
TR-34

524W2-42401
TCM FD40 T8
RH/LH

RIS HIR
TR-35

®23m/m ®23m/m

Uher——=m

3EC-24-31650SG
KOMATSU FD40 7S

O 17m/m @ 17m/m

91C43-00500
MITSUBISHI GRENDIA
FD15

TR-38

TR-39

O 17m/m O17m/m

91F43-00500
MITSUBISHI GRENDIA
Fd25

TR-40

169

W HE P A - 42Ae s % - ABR



M

SPECIAL PURPOSE VEHICLE

TIE ROD
LINKS

s
(ZE4EEE )
3014501302 3024501308 HYUNDAI FD25/30
LINDE FD16~20 LINDE FD30 HLEES R/L
HisESE R/L TR-41 | %522 R/L TR-42 | (FfE 5 *2) TR-43
40%117PIN 40%117PIN
291Y4-32022 291Y4-32012
20%40%2.0m/m #H TCM FD250 Z-3/Z-4 TCM FD250 Z-3/Z-4
TR-43-1 RH TR-44 LH TR-45

170 WA A - e % - ABR



	1: 157
	2: 158
	3: 159
	4: 160
	5: 161
	6: 162
	7: 163
	8: 164
	9: 165
	10: 166
	11: 167
	12: 168
	13: 169
	14: 170

